5) Solve the linear equation.
4x-3(2x+3)+7x =45

hy-lox -t dx= 45
byen - 45
Bt = &1

6) Solve the linear equation.
5(x+3)-3(4x—3)=5x

i AR e sk UERALIIET S

7) Solve the linear equation.

2x—8)-4x=5x—x+14 Tl - lox
Ok -1e-1hs Yx HY ——
-5 s
— - =\
8) Solve the inequality & graph the solution set.
~4x-3)<36 |
-yl —t—Hh——>
X-310 3
i 9) Solve the inequality & graph the solution set.
4x -7 <8x+21 X
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—43) Solve the absolute value inequality & graph the solution set.

1
S, W ,
2x 2lja b ‘__%7434},46@——')

—— =5 g
ST\ {-aL5 Onol X275
\\/\.(;\LS oy oapl XT3

2

. e

14) Graph the linear equation (slope-intercept form). i |

1 Vo +—

S +3 mEEEL

gl b e

» x,

15) Graph the linear equation. i 3
y=2

2 ;

3
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~—47) Graph the linear equation (standard form). L\£ s i
4x+2y=8 £ Bl b
o”?%— “Tike L N E
R §
8 i B *\l}
Hint: convert to slope-intercept form or use the x and y intercepts.
X
18) Graph the linear inequality (slope-intercept form). e i
yg—ax S Ala
NANANITAN
N
)
V
TR
19) Graph the linear inequality (slope-intercept form). ¥

y<x+l1 e
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23) Find the equation for a line with the given properties.
Slope =0 & containing the point (34)

Le

24) Find the slope-intercept equation for a line with the given properties.

1
Slope=— & containing the point (-9,7)
3 f3 e84 ®)

. A
Y Shie Pzl
N

25) Simplify using properties of exponents.

(5 J-29")
5 2 —\D)(aﬂ‘g

26) Simplify using broperties of exponents.
210 5
A2y q X
——)

6
(74

27) Simplify us
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32) Factor the(ﬁolynoml*gl. ( &L - 10 1&)( + 3 )

2x* -7x-15

& o
(D) ons3))

~ 33) Factor the polynomial.
25x* -81

\ (5x-9 \B1a9)

34) Factor the polynomial.

3x? —21x+36 5(@,4)( + D«)

ETEDIE)

35) Solve the system of equations by using substitution or elimination.

@ )\v {x=12—-7y \a—:kj> 55 s 19 A "&lﬂj = O

10 0 - C;)\J 5(:] = P ’&LOj =1
-\
36) Solve the system of equations by using substltutlon or elimination. e
x+y=5 X35
{x +2y=3 ‘ % -2 X=F

....L{ &) \«j:—cg ‘(Ch'a) }

37) Simplify t

32 &
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41) Add the radicals.

Mool 3513 413 | 4818
G @b

42) Evaluate the function notation.
(x)=2x tox 7

o35 +al3) -
Find f(-3)= \%__ 5=

B

43) Find the value of x in the function notation equation.

flx)=2x-15 —5 _&)('\5
Find x so that f(x)=-5 D=9% ) o

U\

Use the graph of p(x) to answer the following questions:

L
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